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No Calculator!  Make sure all slopes are reduced.
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Slope and y-intercept


Homework- OL 11/13/17


 





Name:___________________________                 





Pd:____                 Date:__________





2.  Which is true about the given line?
































A)  Its slope is -3 and goes through (2, 5).


B)  Its slope is -1/3 and goes through (2, -5).


C) Its slope is -3 and goes through (2, -5).


D) Its slope is -1/3 and goes through (-5,2).











1.  What are the x and y-intercepts?





A)   x-int (3, 0)  


 y-int (0, 2)





B)   x-int (-3, 0)  


       y-int (0, 2)





C)  x-int (2, 0)  


       y-int (0, 3)





D)   x-int (2, 0)  


       y-int (0, -3)
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3. Which of the following best presents the graph of a line with a slope of  –     and a y-intercept of -1?








A)			          B)                                            C)                                          D)	





2 3 
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4..  What is the slope of the given graph?





A)  –1


B)  1


C)  0


D)  3 





5.  Which is true about the given line?



































A)  Its slope is 3/2 and goes through (-1, -1).


B)  Its slope is 2/3 and goes through (1, 4).


C)  Its slope is 3/2 and goes through (-4, -3).


D)  Its slope is 2/3 and goes through (2,-4).
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